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Transitive and intransitive verbs transitive

The difference between a transitive verb and an intransitive verb is that a
transitive verb has an object, whereas an intransitive verb does not have
an object.

The verb "to raise" is transitive; that is, it has an object. For example, "I
(subject) am raising (verb) the book (object)".

The verb "to rise", however, is intransitive, which means that it does not
have an object. For example, “"The book (subject) is rising (verb)".

What's the difference between a transitive verb and an intransitive verb?
The difference ...is that a
transitive verb has an object, whereas
an intransitive verb does not have an object

What's the difference between the verbs “to raise” and “to rise"?
The difference ... is that “to raise”
is transitive, whereas “to rise” is intransitive

Give me some sentences containing transitive verbs, please.
The car hit the wall. The boy cut his thumb.
They pushed the table. He opened the door.

Right, now give me some sentences containing intransitive verbs, please.
The sun rises at 6 o'clock.
He gets up very early in the morning.
People walk very quickly in winter. The door opened.

Note that the object of a transitive verb is not always stated. For example,
in the sentence "He ate quickly”, the object of the verb is obviously the
food that he ate, although this is not stated.

Is the object of a transitive verb always stated? No, the object of ...
Give me an example, please. He ate quickly
respect scorn worthy

Do you think it's more important for managers to have the respect of
employees or to be liked by employees? | think it's ...









